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3⟨−𝟑 , − 𝟐 ⟩
 𝑨𝑩 
→  

(𝟐, 𝟓)(𝟐, − 𝟓)(−𝟐, 𝟓)(−𝟐, − 𝟓)

4

a 

E  30°N 030°30°30°

5 √𝟐2  °45 

⟨𝟐 , − 𝟐⟩⟨−𝟐 , 𝟐⟩𝟐𝒊 + 𝟐𝒋𝒊 + 𝒋

6k⟨𝒌 + 𝟐 ,  𝟎 ⟩⟨𝒌 − 𝟑 ,  − 𝟒 ⟩

{𝟐 , 𝟑}{−𝟐 , 𝟑}{𝟐 ,−𝟑}{−𝟐 ,−𝟑}

7w = 5i + 3j -√2k 

𝟖 − √𝟐𝟔𝟖 + √𝟐𝟒√𝟐

8 

𝟑𝟎𝟒𝟓𝟔𝟎𝟗𝟎

9, 𝑠 = 〈4 ,−3 〉 , 𝑡 = 〈−6 , 2 〉r r= t -2s  

⟨𝟏𝟒 , 𝟖⟩⟨𝟏𝟒 , 𝟔⟩⟨−𝟏𝟒 , 𝟖⟩⟨−𝟏𝟒 , − 𝟖⟩

6 

  B= ( -1, 3  A  



10

⟨−𝟑, 𝟐 , 𝟔⟩⟨−𝟑, 𝟔, − 𝟔⟩⟨𝟑, −𝟐 , 𝟔⟩⟨−𝟑 , − 𝟔, 𝟔⟩

11 v = 〈𝟐 , 𝟓  〉, u = 〈−𝟏 , 𝟑  〉

171317

12⟨−𝟑 , − 𝟐 ⟩
 𝑨𝑩 
→  

(𝟐, 𝟓)(𝟐, − 𝟓)(−𝟐, 𝟓)(−𝟐, − 𝟓)

13〈√3 ,1 〉x 

0°9 120°60°30°

14
𝑨𝑩
→ A(-3 , 1) , B (4 , 5 ) 

√𝟔𝟓√𝟑𝟑√𝟔𝟏𝟔𝟓

15

𝑵𝟑𝟓° 𝑬𝑵𝟓𝟓° 𝑬𝑾𝟓𝟓° 𝑺  𝑾 N 𝟑𝟓° 

16155°

𝑵𝟓𝟓° 𝑬𝑺𝟐𝟓° 𝑬𝑾𝟓𝟓° 𝑺 𝑬 N 𝟑𝟓°

17

a , b 

  متطابقان  𝐚  معكوس  𝐛 متساويان  متوازيان 

18 

⟨𝟏, 𝟏 , 𝟏⟩

19 , 𝒂 = 〈2 ,4 , −3 〉 , 𝒃 = 〈−5 , −7, 1 〉2a – b  

⟨−𝟏, 𝟏 , 𝟓⟩ ⟨𝟒, 𝟖,−𝟔⟩ ⟨𝟗 , 𝟏𝟓 , − 𝟕⟩ ⟨𝟗, 𝟏𝟓 ,−𝟓⟩ 

  B= ( -1, 3  A  

6 

4i + 3j – k  v = 2i – k , w  

u • v  

 إعداد المعلمة : حميده الجدعاني 


